9r — 71 > 3(3x — Tu)

A linear inequality in two variables may come in two forms:

An inequality in 2 variables defines an infinite area in the cartesian
plane.

Any point (x,y) that satisfies the inequality is a solution.

Eg: Which points are solutions?
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https://www.codecogs.com/eqnedit.php?latex=%255CHuge%2520%255Ccolor%257Bblue%257D%25209x-7i%253E3(3x-7u)%250
https://www.codecogs.com/eqnedit.php?latex=%255Clarge%2520%255Ccolor%257Bgreen%257D%2520y%255Cgeq%25203x%252B2%2520%255Cnewline%25204x%252B2y%255Cgeq%252010%250
https://www.codecogs.com/eqnedit.php?latex=%255Clarge%2520%255Ccolor%257Bmagenta%257D%25203x-2y%2520%255Cgeq%2520-16%2520%255Chfill%2520%257B%255B(-3%252C%25204)%252C%2520(0%252C%25202)%252C%2520(-5%252C%25203)%255D%257D%250
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The line that separates valid solution points from invalid points is
called the boundary line.

If the line itself is a solutiofi, (Z1 =) then the boundary line should be
solid.

If the line itself is not a solution, (> <) then the boundary line
should be dashed.


https://www.codecogs.com/eqnedit.php?latex=%255Clarge%2520%255Ccolor%257Bred%257D%2520y%253C%25203x%252B2%2520%255Chfill%2520(0%252C%25200)%250
https://www.codecogs.com/eqnedit.php?latex=%255Clarge%2520%255Ccolor%257Bred%257D(%255Cgeq%2520%252C%2520%255Cleq)%250
https://www.codecogs.com/eqnedit.php?latex=%255Clarge%2520%255Ccolor%257Bblue%257D%2520(%253E%252C%2520%253C)%250

The algorithm:

EG:

Solve fory

Decide if you
need a solid or
dotted line

Draw your line

Decide which
part of the
graph contains
valid solutions

Scratch out the
‘garbage’.



https://www.codecogs.com/eqnedit.php?latex=2x%252B3y%255Cleq6%250

5(d) ~ zc(t) ¢ 0

EG:

S5r — 20y < 0

Solve fory

Decide if you
need a solid or
dotted line

Draw your line

Decide which
part of the
graph contains
valid solutions

Scratch out the
‘garbage’.
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https://www.codecogs.com/eqnedit.php?latex=5x-20y%253C%25200%250

Write an inequality to represent the graph.
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Write an inequality to represent the graph.
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